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Simple Periodic Table of the Elements

Atomic Number
= number of protons
in the nucleus

Throughout the universe, there are 92
kinds of atoms, or elements. In addition
there are several man-made heavy
elements. Each different element has a
unique number of protons.

electrons in the outer shell

The number of negative electrons usually
equals the number of positive protons. As
the inner shells fill up with electrons, more
electrons orbit the nucleus in shells further
from the nucleus. The number of electrons in
the outer shell determines how the element
combines chemically with other elements.
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Atoms want to

have 8 electrons
in the outer shell.

They bond, or
combine, to

make molecules
with a total of 8
electrons in the

outer shell

Joel Harrison 2010 ) o uranium

The elements in
this column, or
group, have 8
electrons in
their outer shell.
These atoms do
not bond, so
they never
make liquids or
solids.



